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1. What is the value of & (& # 0) for which|5. What is the positive value of m for which the
x2 — 5% + « and x2 — 7x + 20 have a common roots of the equation 12x% + mx + 5 = 0 are in
factor ? the ratio3:27?

(a) 6 (a) 6410
by 4 1
(¢ 3
5
Yy 9 2
d 2 (c) T
@ 2

2, How many numbers from 1 to 1000 are 5

divisible by 2, 8,4 and 5 ?
@ 16 6. Let f(x) and g(x)} be two polynomials (with real
coefficients) having degrees 3 and 4
(b) 17 respectively. What is the degree of f{x)g(x) ?
(c) 32 (a) 12
(d} None of the above by 7
(e) 4

3. What are the factors of x° + 4x2—11x—30? d 3

(a) (x-2),(x+3)and (x+5)
7. If 5x% + 5x% — 6x + 9 is divided by (x + 8),
(b) (x+2),(x+3)and (x-5) . .
then the remainder is
() x+2),x-3)and(x+5) (@ 135
(d E+2),x-3)and (x-5) () -135
(¢} 863
4, If x = 111...1 (20 digits), y = 333...3 (d) -63
10 digits) and z = 222 ... 2 (10 digits), th
(10 digits) an2 2 ¢ gits), then 8. The product of two non-zero expressions is
what is = _zy equal to 7 (x + y + z) p°. If their HCF is p?, then their
LCM is
(a) 1
2 (a) x+y+2z)
(b) 1 (b) (x+y+2)p?
e 2 © &+y+2)pd
d 3 d) (x+y+2)p
STS-M-TPT (2-A)
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1. o (xz0) ¥ T§ A9 F7 §, FEs g
x% - 5x + a3 x% — Tx + 20 F1 TH O UGS
BATR 2
(a) 6
(b) 4
(c) 3
d) 2

2. 1¥ 1000 o Fradl G=and 2, 3, 4 3R 5 @
Rasg g2
(a) 16
by 17
{c} 32
(@) I H & i T

3. x3+4x2~11x‘u3.oa;gumm%?v
(@) (x-2), (x+3) H(x+5)

d  (x+2),(x+3) 3N (x-5)
(c) (x+2),(x-—3)3ﬂ¥(x+5)
)  (x+2),(x-3)3f(x-5)

4. 9® x=111...1(203F),
y=2333...3 (10 %) 3l
z=222...2 (10 3%) 3, @ "“;’2 forarah
TR B ?

@ 3
(b) 1
() 2
(d) 3
STS-M-TPT

(3-A)

m 1 98 YAHS AW w11 8, e fow wfiem
12x2 + mx +5=0% AT 3: 2% AU H & ?

(@ 510

5410
{b} ETH
5
{c) "i'é'
12
d bl
{d) 5

o i fx) 3 gx) @ qgag (arafaes
ol & @) &, SR ferft s 3 el 4 2
flx)gx) St et T g 2

(a) 12

by 7

{(c) 4

(d 3

afe 5x® + 5x% - 6x + 9 B (x + 3)H fnia
fore wTaT 8, O JueS F=T R 2

(a) 135

(b) ~135

() 63

(dy -63

ammﬁ%w&+y+z)pzs% I
Iqfe 91 HETH GHYSAS (HCF), p? 8, a1 3!
AT F9Ed (LCM) &I 8 2

(a) (x+y+z)
(b) (x+y+2z)p?
() (x+y+2z)p°
(d) x+y+zp
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9. If the points P and Q represent the real|12.
numbers 0-83 and 0-62 on the number line,
then the distance between P and Q is

21
a —
(a) 90
19
b ki
(b) 90
21
(e) —
100
13.
56
d 20
(d) 90

10. Sudhir purchased a chair with three
consecutive discounts of 20%, 12-5% and 5%.
The actual deduction will be
(a) 335%

(b) 30% 14,
(c) 32%
(d) 35%

11. A fruit seller has a certain number of mangoes
of which 5% are rotten. He sells 75% of the
remainder and he is left with 95 mangoes.
How many mangoes did he have originally ? is
(a) 500
(b) 450
(c) 400
(d) 350

STS-M-TPT (4-A)

If a train crosses a km-stone in 12 seconds,
how long will it take to cross 91 km-stones
completely if its speed is 60 km/hr ?

{(a) 1hr 30 min
{(b) 1hr 30 min 12 sec
(¢} 1hr51 min

(d) 1hr1min3sec

In a 100 m race, A runs at 6 km/hr. If A gives
B a start of 8 m and still beats him by

9 seconds, what is the speed of B ?

(a) 46 km/hr
(b) 48 km/hr
(c) 52 km/hr
(d) 54 km/hr

The quotient of 8x® — y® when divided by
2%y + 4x° + y? is

(a) 2x+y
by =x+2y
() 2x-y
(d) 4x-y

If (x + 2) is a common facior of xZ + ax + b and

x2 + bx + a, then the ratio a : b is equal to

(a) 1
by 2
(cy 3
(d) 4
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10.

11.

STS-M-TPT

(@)

7fg forg P aflt Q W @t w arfas dErsH
0-83 3t 0.62 = frefg =@ €, @ PR Q
% ot I gl w7 ?

21

90

19

(b) 20

21

(e) m

56

(d}) 30

19 AP HATET 20%, 12:5% 3R 5% o 1Y,
gefit 3 v T @i | FE | arafas wd
91 grft 7

{a) 33-5%
(b 30%
() 32%

(dy 35%

w %o faskar % 8 ww ffe e § o
g frl @ 5% a2 gu d | 98 AN A F 75%
a9 a1 & 3 30+ I™ 95 W €9 I B |

ams ® @k o foha et & 2
(a) 500
(b) 450
(c) 400

(d) 350

12. T i ffed oo 9 W 1 km formn 8, =00

13.

14.

15.

(5-A)

aR A A AR o 3 12 A o R, O o
T yeer * o\ W 91 km forEn B, oft g N
FH W M From gy onft, 3R 7 Al
60 km /927 8 ?

1921 30 fime
1521 30 fire 12 3w

(a)
(b)

(0 19er 51 e

(d) 191 1fFE 30hs

100m¥ & G ° A, 6 km/92T § Ergar g |
iz A, B 8 m M ¥ ded @ famaa gar &
MR B oD B gu 2 @, @ BR
Il R § 7

(a) 46 km/S
(b)
{cy 52 /ST

48 km/=eT

(d) 54 km/=R1

8x3 — y2 H 2xy + 4x2 + y2 ¥ T = W
YIRS T B ?

(a) 2x+yv
(b) x+2y
(c) 2x-y
d} 4x-y

’ﬂﬁ{x+2), xZ+ax+b AN x2 +bx +a Fl Th
e s R, @ 9 a ;b R U g 2
(a) 1

by 2
{c) 3
{d) 4
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16.

Let

_ n n-1 n-~2
fx)=a,x" +a, X" " +a,x" " “+..+a, _,x+a,

where a, 8y, a,, ..., 8 are real numbers.

If flx) is divided by {ax-b), then the
remainder is

'
(a) f EJ
. a
® - }l]
a
| .
a
@ ff- b]

17. Consider the following numbers :
1. 2222
2. 11664
3. 343343
4. 220347
Which of the above are nof perfect squares ?
(a) 1,2and 3
(b) 1,2and4
(¢) 2,3and4
(d) 1,3and4
18. The product of the polynomials (x + 2), (x - 2),|
(x® - 2x% + 4% - 8) and (x3 + 2x% + 4x + 8) is
(a) xB-256
b (x*-16)
€ (x*+16)2
@ P-4
STS-M-TPT (6

19.

20.

21.

22.

A)

(b)

The factorsof x(x+2) (x + 3) (x + 5)—~72 are
(a) x,(x+3)(x+4)and(x-86)

() (x-1),(x+6)and x?-2x-12)

(¢) (x-1),(x+6)and (x?+5x+12)

(d) (x+1),(x-6)and (x*-5x—12)

If the HCF of polynomials
fix) = (x — 1) (x2 + 3x + a) and
gR)=(x+ 2)(x2+2x+b}is{x2~+~x—2),

then what are the values of a and b
respectively ?

(a) 2,2

by 2,-3
() -1,-3
@ -2,-1

a, b, ¢, d are non-zero integers such that (ab)
divides (cd). If a and ¢ are coprime, then which
one of the following is correct ?

(a} aisafactorofc
a is a factor of b
(¢) ais afactorofd
(d)

d is a factor of a

If the roots of the equation
atb-c)x®>+blc—-a)x+cla—b)=0 are
equal, then which one of the following is

correct ?

(a) 2Z2b=a+c

by b2=ac
2 1 1

(e) E-—-E+c
1 1 1

d —=—+ =

(); b a+c
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16.

17.

18.

STS-M-TPT

T S

fx)=ayx" +a,x" 1+a,x2" 2+ +a  x+a
2, GIﬁa,ﬂ.}, ay, Ay, .y anwwﬁl
afe fx) B (ax - b) ¥ Tl e g,
ATHES FATEM ?

Frafafige semet v far ik
1. 29922

2. 11664

3. 343343

4. 220347

Fasra it 7 €
1,23 3

1,23 4

2,33 4.

1,33 4

(a)
(b)
(¢)
(d)

'ﬂ’g}iﬁix-l-2),(x—2},(23—2x2+4x~8}3ﬂ'('

(x3 + 2x% + ¢X+B)W¥WW% ?
(a) x°-256
(b)
()

(d)

(x* - 16)%
(x* + 16)%
(x2 - 4)%

119,

20.

21.

22,

(7-A)

x (x + 2) (x + 3) (x + 5) - 727 TGS &

(a) x,(x+38),(x+4) 3 (x-6)

(b) (x—1),(x+6)3Mx2-2x-12)
@ x-1,x+6)3Mx?+5x+12)
() (x+1),(x-6) M x2-5x-12)

A EE W =x-1D&2e3xea) AR
g(x) = (x + 2) (x2 + 2x + b) 1 HEAH THNEGSH
(HCF), (2 + x - 2) €, @ a 3 b % WE UM
wE 2

(a) 2,2

(b) = 2,-3

e -1, -3
(d) -2,-1

a,b,c,d?zﬂma??@ﬂ'{%ﬁ%ﬁﬁ {ab),
(ed) Y farmnfora @t @ | AR 2 31 ¢ sTERvST
g afeafafe i aseanad & 2

(a) a,c 3T IOTTEE -
(b) a,b < IPHEE B
(¢) a,d ™ TPHES 3
(d) d, a™ PGS 3

afe wfieo
ab-c)x®+b(c-a)x+cla-b)=0%F 7@
W g, a Feffaa d a smar el 8 2
(a) 2Z2b=a+c¢
(b) bZ=ac
2 1 1
R
y 1.1.1
) b“a+c
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23. The non-zero solution of the equation|27.
a—x2 b-x c¢—-x b — x?
- = - , Wwhere
bx c b cX
b#0,c#0 is
b2 +ac
(a) ——7F
b? +c?
b2 —ac
(b) b2 c2
b? —ac 28.
{c) T
b +¢
b2 +ac
(d) b2 — 2
24. Ifkis an integer, then
X2+ 7 — 14[k2 - %J =0 has -
(a) Both integral roots
(b) At least one integral root 29
(¢) Nointegral root
(d> Both positive integral roots
25. How many numbers between 500 and 1000
are divisible by 13 ?
(a) 36
(by 37
(c) 38
(d) 39
30.
26. To maintain 8 cows for 60 days, a milkman
has to spend T 6,400. To maintain 5 cows for
n days, he has to spend T 4,800. What is the
value of n ?
(a) 46 days
(b) 50 days
{¢} D8 days
{(d) 72 days
STS-M-TPT (8-A)

A student has to secure 40% of marks to pass
an examination. He gets only 45 marks and
fails by 5 marks. The maximum marks are

(a) 120
(b) 125
(e) 130
(d 150

What is the value of u in the system of
equations 3{(2u +v)=Tuv, 3(u+3v) =1luv?

(a) O

(b)

(c)

i . § RNy

(d)

Five years ago, Ram was three times as old as
Shyam. Four years from now, Ram will be
only twice as old as Shyam. What is the
present age of Ram ?

(a) 30 years
(b) 32 years
(e) 36 years
(d) 40 years

Ram buys 4 chairs and 9 stools for ¥ 1,340. If
he sells chairs at 10% profit and stools at 20%
profit, he earns a total profit of ¥ 188, How
much money did he have to pay for the

chairs ?

(a) ¥ 200
(b) T 400
(c) ¥ 800
(d> ¥ 1,600
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23, WHIFE a--x2 _ b-x _c-x h—xE! 21.
bx ¢ b cx
TE b0, c# 08, I LTAN A T8 ?
b2 + ac
@b
b2 — ac
P ovoa
b% —ac
(© b? +c? 28,
b2 +ac
AN )
24, AR ks quis B, o
%% 4 Tx — 14(k2 - %] =0 HI/F
(a) i g quiter &
(b) FH-BFH T A NF &
() oft e qorien A ® 29
) <t gt ue yorfes &
25. 500 3T 1000 & 9 Feodt @i, 13 ®
(a) 36
(b) 37
{c} 38
{(d) 39
] 30.
26. UH TUATH HI 8 T W1 wwr-dwy 60 A a9
FH F I 2 6400 TE FH IS € | 5 T
F VOO p RA aw W % T, =@
T 4,800 @E FH IS E | nHIAF G ?
(a) 46 A
() 50 f&
@ 58 %A
@ 72f&=
STS-M-TPT (9-A)

TH B 5 frd) vhien &1 9| +9 * R 409
3 W B § | IW FId 45 oFF WA 1
3 g8 5 I QA PA W M@ T | HWianm *F

Afhay FH FNE ?
(a) 120

(by 125

(c) 130

(d) 150

TR e

3(2u +v) = Tuv, 8(u + 8v) = 1luv H, u F
A FTE ?

(a) 0O
1
(b) i
1
(© 3
d 1

gie af ggd, W B Ag, W f Ag H
feapt oft 1 o9 | =R o aw, o Ay,
& a7y $t Faot g gft | T h FdH 30
R 2

(a) 30T

(b) 3299

(¢) 3699

(d) 409§

T T 1,340 § 4 FRAT ait 9 e wlem 2
A} a7 R F 10% 9 | 3R wAl ®
209 STH T S9dT ], @ IW T 188 H FA @IF
B & | SR & R S feeh w3 o
of) ?

{a) T 200
(b) ¥ 400
() & 800
(dy ¥ 1,600
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31. Which one of the following is a correct|3s5.
statement ?
(a) {x:x+5=5)=¢
_(b) [x:x+5=5}={0}
(¢) lx:x+5=5}=0
@ (x:x+5=5= ) 36.
32. If ab + be + ca =0, then what is the value of
a2 b? c? -
+ + ?
a2-bc bZ-ca c2-ab
(a) 3
317.
by 0
) 1
d -1
}13. In an exa;nination, 35% students failed in
Hindi, 45% students failed in English and 20%
students failed in both the subjects. What is
the percentage of students passing in both the
subjects ? 38.
(a) 0
(by 20
() 30
(d) 40
39.
4. What is (x ; NG - z;(z —% 5 equal to ?
G-y +{y-2)° +(z-x)
1
(a) -~ E
1
(b) 3
(e 3
) -3
iTS-M-TPT (10-A)

The value of ‘/1 + J] + ,,fl + ...

(a) Equalstol

(b} Lies between 0 and 1
(¢) Lies between 1 and 2
(d) Isgreater than 2

If log,,6=07782 and log,, 8 = 0-9031, then

what is the value of log,, 8000 + log,, 600 ?
(a) 4-6813
(b) 55813
(e) 1-5813
(d) 6-6813

30 men can complete a job in 40 days.
However, after 24 days some men out of the
assigned 30 left the job. The remaining people
took another 40 days to complete the job. The
number of men who left the job is

(a) 24
(by 18
0 12
d 6

4 goats or 6 sheep can graze a field in 50 days.
2 goats and 3 sheep will graze it in

(a) 200 days
(b} 150 days
(c) 100 days
(d) 50 days

A tap can fill a tub in 10 hours. After opening
the tap for § hours it was found that a small
outlet at the bottom of the tub was open and
water was leaking through it. It was then
immediately closed. It took 7 hours to fill the
tub after closing the outlet. What time will be
taken by the outlet to empty the full tub of
water ?

(a) 35 hours
(b) 25 hours
(¢} 20 hours
(d) 17 hours
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31. Tl & 8 $9-9 T 96 FH B 2 35

{a) (x:x+5=58l=¢

) (x:x+5=5)=(0)

¢ [x:x+5=5)=0

d (x:x+5=5=1p 26,
32. liﬁ ab+bec+ca=0 %, ar

2 2 2

a;— be } hzb—- ca N cgc— ab AR

R

(a) 3 37.

(b) 0O

© 1

)y -1
33. wH vlten ¥ 35% B =G F B @ W, 45%

o St § ¥ B 7Y iR 20% @ QA fawd

# %a1 8 e | 2 Tt d g B At Bt gs.

61 witrraa FN R 2

(a} 0

(by 20

(c) 30

(d) 40

39.

84 (x —{:]; i)\fg:z?;i ;zx: %) e e R 7

(a) - %

O

(e} 3 m

(d) -3
STS-M-TPT (11-A)

J:l 1+ i+, wHA

(@) 1% SO« 8

by o3 1% fady

) 13MmeHdaHR

d 29 ¥ST8

M log,, 6 = 0-7782 AR log 8 = 09031 B,
a1 log, , 8000 + log, , 600 T TF FT1 & ?

(a) 46813
(b) 55813
(cy 15813
(d) 66813
30 safe vk wr w40 o7 § U T B

gt 24 fet % sz so =frdl @ T Y =W
wrd i Sg Gy | aeh ¥2 gu Al 3 39 wH
W @ WA F R 40 e o e | w9 S

Y a1 sl ) e R g 7
(a) 24

by 18

ey 12

d) 6

4 ST uET 6 9, T B & 50 & =
AEdt § | 2 SRRl 3 3 93 34U |9 & e
feat & = <t o

(a) 200fe=

(b) 150

(¢ 100fH

@) s50f&=

U qe fopfl <o @Y 109 F W uwar & 1 T
TeM & 5 U 91€ 98 i T 6 e o asf o
F B FEE gen gan o iR 36l | o)
fog @ o | 99 39 Feere d@e e fEE mar
fremm 92 %3 % 912 wa H Y@ § 7H @ |
Tt & R g 2w e & wieaw | el

w0 # AT wwa o 9
(a) 35 He
(b) 259
(¢) 20%e
(d 17
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40. A boy went to his school at a speed of[43.
12 km/hr and returned to his house at a speed
of 8 km/hr. If he has taken 50 minutes for the
whole journey, what was the total distance
walked ?
(a) 4km
(b) 8km
(e} 16km
(d) 20km
44,
41. If 78 is divided into 3 parts which are
proportional to 1, %, %, then the middle part
is
28
{a) —'3—'
(b) 13
@ 32
55
d 20
(d) 3
45.
42. There are 350 boys in the first three
standards. The ratio of the number of boys in
first and second standards is 2 : 3, while that
of boys in second and third standards is 4 : 5.
What is the total number of boys in first and
third standards ?
(a) 302
(b) 280
(e) 242
(dy 230
3TS-M-TPT (12-A)

The difference between the compound interest
{compounded annually) and simple interest on
a sum of money deposited for 2 years at
5% per annum is ¥ 15. What is the sum of
money deposited ?

(a) ¥ 6,000
(b) ¥ 4,800
() ¥ 3,600
(d) <2400

When prices rise by 12%, if the expenditure is
to be the same, what is the percentage of
consumption to be reduced ?

16g%

(a) 3

2
b 10-%
(b) -

3
(c) 16—%
¢ 5

d 10-%

~1|en

A man rows down a river 18 km in 4 hours
with the stream and returns in 10 hours.
Consider the following statements :

1.  The speed of the man against the stream
is 1-8 km/hr.

2. The speed of the man in still water is
3*_15 km/hr.

3. The speed of the stream is 1-35 km/hr. '

Which of the above statements are correct ?

(a) 1and2only
(b) 2and 3only
(¢) 1and3only
d 1,2and3
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40.

41.

42|

STS-M-TPT

TH @gH 12 km/Ee I I A TR
e T SR 8 km/He F T | AW W A
It ;3 @ AW & fore 387 50 fame forg,
T8 B fepaft glt == 2

(a) 4km

(b) 8km

(c) 16km

(dy 20 km

_1,%,%%m3qmﬁ%,€raﬁam%m

fraar g 2

28

(a) 3

(b) 13

52
(c) 3

55

——

(d) 3

vgeh i wemelt § F 350 TSH & | B! AN
Zall wa % GASH I GO H 2 : 3 W
U B, Fafh gal R @\ wan # ASH
) GEAl T I 4 : 58 | Tgeh o ff\d
HEIH &% ASH H FoI G Fhadl § 2

(a) 302
(b) 280
(c) 242

(dy 230

43.

44.

R 73 =t 3 Rl § fawfe frm s S|

45.

(13-A)

o 991 % 1T 5% 6 iffs ¢ W 5= 6 6w
PR W TRalg S (aifds w0 8 Taifvm)
N |YT] S 1 T T 15 % | I I MR
oo R Y

(a) ¥ 6,000
(b) ¥ 4,800
(c) ¥ 3,600
(d) ¥ 2,400

g gl § 129 W ghg @ I, ok AR @
TE T AT B, 9 @9a ® fhan wiava et
HT gt 2

(a) 16%%
~ (b) 10%%
© 16%%
@ m%%

o =t foRet 9 0 um & Wiy 4 W H 18 km

IF @@ 8 3 10 A A Mm@ |

1. g/ ¥ faulm =2 6t =17 18 km 98
ral i

2. IR gu U # safs it w315 km 9
ek

3. oW 6 U 1-85 km Tl WA B |

ISP H W HER S W E 2

(a) Had 13 2

(b) Haw 2 3N 3

(¢} <had 13 3

(@ 1,233
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46. If a triangle has sides 5, 13 and 12 units and 6 | 49.
is the acute angle of the triangle, then what is
the value of (sin 8 + cos 0) ?
5
a —
(a) 13
T
b L
®) 13
12
c —
(e) 13
17
d 2!
@ 1 50.
47. If0<x< g, then (sin x + cosecx) is
(a) =»>2
(b) <2
(¢) =22
d =2
2 _ L2 51.
48. If sin6= -, and 0 <6< —, then
m*+n 2
what is the value of cos @ ?
2mn
(a) —S——=5
m2 + 1'12
2mn
b)) —————
m2 —n?
© m2 +n?
2mn
2 2
m*—n
(d
) Z2mn
STS-M-TPT (14 -A)

If angle A of triangle ABC is 30° and the
circum-radius of the triangle is 10 cm, then
what is the length of side BC ? '

(a) 5cm

(b) 10cm

() 5+3cem

(d) 1043 cm

If A= sin 45° — sin 30 and

cos 45° + cos 60°

B= %€ 45° - tan 45 , then which one of the
cosec 45° + cot 45°

following is correct ?

(a) A=B
(b) A>B>0
(c) A<B
(dd B<A<O

If  measured in radians is the angle between
the hour hand and the minute hand of a clock
when the time is 4 : 36 pm, then which one of

the following is correct ?

3 4
L Wil
(a) - <8< 5
(b} Ecﬁicﬁ
5 5
Tep<2®
{c) - <%
@ Mgl
15 15
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46.

47. Wﬁﬂ-::x«:-;—%,?ﬁ(sinx-i-msecx)%
(a) >2
k) <2
€ =22
Sy =2
48, IfE sinp= 2 2 - n? 3ﬂ?0<8<—~%?ﬁmsﬁ 51.
m? +n?
FAA TS ?
2mn
@) m? +n?
. 2mn
b
(b} T2
2, .2
m® +n
{c) —
2 2
mé —-n
) 2mn
STS-M-TPT (15-A)

ot w frgw i ged 5, 13 ol 12 7 # e
Qﬁﬂﬁﬂﬂ:ﬁﬂ-ﬁm% ?ﬁ(smﬂ+msﬁ}${m

FTE?

5

s

{a) I3

(b)

12
(e} -1":'3'

17

(d) 13

50.

49. I Brys ABC &1 H107 A, 30° € 3 Byw ¥

uftga & 5 10 em 8, T 950 BC it o

TR ?

{a) Bcm

{(b) 10cm

{c} b5 -J§ cIm

(d 1043 em

zr% A = sin 45° — sin 30° 3

cos 45° + cos 60°

B = sec45H° - tan 45° % 4 Refafag § @

cosec 45° + cot 45°

H-H1 TE B 7

{fa) A=B

(b A>B:>0

{c) A<B

{dd B<A<0

af o, s T W F 2, et wd & W
& gf ol e 1 g F e = 2 o
T 4 : 36 HAWE &, °F frAfafga 4 @ wRa
ad g2

3 in
Py 9< e
5 <

(a) 5

(b)
(e =<06x

(d)
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52. Consider the following statements :

1. If 45° <8 < 60° then
secZ @ + cosecZ & = o’ for some real
number o > 1.

9. If0° < B < 45°, then ~~ 59 _ 42 g5,

1 - cos
some real number x > 2,
3. If 0° <@ < 45°, then
cos O sin @ > 9
1—-tan® 1—cot®

What is the number of true statements ?

(a) Zero

(b) One

(¢} Two

(d) Three

53. Let AB represent a building of height h metre
with A being its top, B being its bottom. Let

A’B’ represent a tower of height (h + x) metre

(x > 0) with A" being its top and B’ being its

bottom. Let BB’ = d metre. Let the angle of

elevation of A" as seen from A be 45°,

Consider the following statements :

StatementI: h+x>d

Statement I : The angle of depression of B as

seen from A’ is less than 45°,

Which one of the following is correct in respect

of the above statements ?

(a) Both Statement I and Statement II are
true and Statement II is the correct
explanation of Statement I

(b} Both Statement I and Statement II are
true but Statement II is not the correct
explanation of Statement I

(¢) Statement I is true but Statement II is
false

(d}) Statement I is false but Statement II is
true

STS-M-TPT

54.

56.

(16 - A)

A man, standing at a point X on the bank XY
of a river that cannot be crossed, observes a
tower to be N «®E on the opposite parallel
bank. He then walks 200 m along the bank to
the point Y towards East, and finds the tower
to be NB°W. From these observations, the
breadth of the river will be

(Given that tan «° = 2 and tan B° = 0-5)

(a) 60m
(b) 70m
(c) 80m
(d 90m

The wvalue of sin 1

where 1° represents
sin 1°¢

1 radian is

(a) Equaltol

(b) Lessthanl

{c} Greater than 1 but less than 2

(d) Greater than 2

The diameters of two given circles are in the
ratio 12 : 5 and the sum of their areas is equal
to the area of a circle of diameter 85 ecm. What

are their radii ?

(a) 12cmand5cm
(b) 24 cm and 10 em
{(¢c) 60cmand25cm

{d) 30cmand 12:5cm
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52. 54.
1. e 45°<p<60° B, A
sec? B + cosec? 8 = agﬁ?@ﬁ IR<feess g&n
o>1% e |
2. qﬁ00<9<45°%,?ﬁ w:xzm
l-cos@
Wﬁﬁﬁ@f;ﬁ:&,%ﬁﬂ%l
3. IR 0°<8<45°8], WM
cos @ sin_fi >2% |
l1-tan@ l-cot@
Et Hu b wEA =R ?
(a) ¥HA
(b) TH
@ A
(d) @A
53. ®MA #fif AB, h fiX F=R 6 T T F |55,
frefig s 8 9@ A I 3 iR B S
aw 2 | "A Wifm AR, (h+x) HRRX
(el x > 0) =S i wH AR F Pl war
- g e A g i SR B sEsT a9 & | UM
<iifoe BB = d Wiex & | 7 witfw A & 2@ i
AT FHET BT 45° 8 |
frafeafiaa suAl w fa=mm Fifsm
HYFL - h+x>d
FUTII: A’ Y TET AT B 1 JFETHA HI01 45° @
FHE 56.
I9dw wol % wed # Fomfofea 4 @ wha
e g ?
(@) U 1 3R wud II 2= @d g, =K
%o 11, wew 1 6 9 = §
(by A I 3R w¥A II e T §, w0
FeH II, U 1 I TE e TE 8
(c) WU 1WE B, UG HYA 1L TEE 3
(d) Y [T B, W HU I TE B
STS-M-TPT (17 -A)

Frfafiaa st w fFEm Hifse .

wF e, 8 9R T RRn s o, ¥ XY
P W, X fog W @w g w =fE
e FAETE PR 0w HMR S NoE %
Igen J@at 7 | R 9y = fei & wy @
fen &1 #R Y fog 9% 200 m w@@ 2, 3K
HHAK ® N p° Wl fafa § urar & ) 59 Jei
% TgEn, T4 o e w Al 0

(& =1 8 7 tan o° = 2 3T tan p° = 05 8)

(a) 60m

(b) 70m
(¢) 80m
d} 90m

sin 1°

+H O F B, 9@ 16, 1 e W

sin 1¢

forefia wtar 2 2
(a) 1% SR

(b) 18 %"

(0 1% firs, fhg 28 W

(d) 2% Aftes

feq e 3 o % =W 12 : 5% IgE § € el
% GIHEA! N IHE, 65 cm W TN TH
ESERERIER TN CCIREED I 2
(2) 12 cm 3 5 cem
(b) 24 cm 3% 10 cm
(©) 60 cm 3 25 cm

(d) 30 cm 37T 12'5 cm
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57. A hollow cube is formed by joining six|61.
identical squares. A rectangular cello tape of
length 4 ¢cm and breadth 05 em is used for
joining each pair of edges. What is the total
area of cello tape used ?

{a) 12 square cm
(b) 24 square cm
(e} 36 square cm
(d} 48 square cm

58. Two straight lines AB and AC include an
angle. A circle is drawn in this angle which
touches both these lines. One more circle is
drawn which touches both these lines as well
as the previous circle. If the area of the bigger
circle is 9 times the area of the smaller circle,
then what must be the angle A ? 62.
{a) 45°
(b) 60°
(c) 75°
(dy 90°

59. An isosceles triangle is drawn outside on one
of the sides of a square as base in such a way
that the perimeter of the complete figure is
% times the perimeter of the original square.
What is the ratio of area of the triangle to the
area of the original square ?

(a) 1:1
by 2:3 63.
() 1:2
dy 1:3
60. What is the area of the triangle whose sides
are 51lcem, 37Temand 20 cm ?
(a) 300 square cm
(b} 305 square cm
{¢) 306 square em
{(d) 307 square cm
STS-M-TPT (18-A)

Segment QR of length r is a tangent at Q to a
circle of radius r with centre at P. What is the
area of the part of the triangle PQR, which is
outside the circular region ?

(a) T—;
® o

In a triangle ABC, AD is perpendicular on BC.
If £z BAC=90°, AB=¢c, BC=a, CA=b and
AD = p, then which one of the following is

correct ?

(a) p=abc

(b) p%=be

() p= be
a

(d p= ab
c

AB and CD are parallel chords of a circle 3 cm
apart. If AB = 4 cm, CD = 10 ¢m, then what is
the radius of the circle ?

(a) T7em
(b) V19cm
(© V29 cem
{(d) l4cm
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b7.

T gaEH T H SAgH U6 @Edl 99 S
T 2 ) T ¥ uedw gm W e ¥ fau
4 ¢ TETE AR 0-5 cm SISTS AT TH SAEAATHR
et 39 1 wET R wen ® ) v § o o

61.

YAl 39 1 FA S% fohan § 2

(a)
(b)
(c)
(d)

1251 em
24 T em
36 9 cm
48 T em

58.

59.

60. wﬁgmmmﬁw%,myw;

2 W W@ AB 3 AC TF +I0 Sl & | 59
® § TF g9 T @ € S g e
F WY HA1 2 | T g9 AN SR A7 g A
T gF @Il F HN-EE, UES 9 g9 $ off
e A # | IR 93 A g9 H G, o
A I B BT 9T 7, A HIT A H AA
R ?
(a) 45°
®) 60°
() 75°
@ 90°

freft ot it yonadt d @ 5 ™ B oW
A, ¥ F TR T AgEg e W IR
T S 2 6wl e &1 ity
i & oo w1 L R | B % e
arifires a7 F GAEA A AU TR 2
(a) 01

(b) -

()
(d)

s DD Rt
& o o

51cm, 37 cm 3T 20 em & 2
(a} 3009 cm

62,

63.

(b}
{c)
(d)

STS-M-TPT

305 91 em
306 L] cm
307 i cm

(19-A)

r 9 B TF W@EE QR, s r ek

Fpfeg P A TF g9 & forg Q W vt # |
Bqs PQR & 9 e w1 Sowe @ 8, W

JEATHR &7 % AR § ?

(a)
(b)

(e)

2 mr?

d rE

o
8

s fyst ABC #, AD, BC W ©w & | WR
2 BAC = 90°, AB = ¢, BC = a, CA = b 3R
AD=p?, @ Fafafm i a s et 2 2

(a)
(b

{c)

@ p=2

AB 3R CD, TF g9 ! §aiR Siard € st 3 em
i wg 19 AB=4om, CD=10cm &, T
o e an g 2

(a) T7cem
V19em
V29 em

14 em

(b)

(e)

d)
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64.  The diagonals of a cyclic quadﬁ]ai;eral ABCD

66.

STS-M-TPT

intersect at P and the area of the triangle APB
is 24 square cm. If AB = 8 em and CD = 5 em,
then what is the area of the triangle CPD ?

(a) 24 square cm

(b) 15 square cm

(c) 12-5square cm

(d)

9-375 square cm

In an equilateral triangle ABC, BD is drawn

perpendicular to AC. What is BD? equal to ?
(a) AD?
(b) 2AD?
{¢} 3AD?
(d) 4AD?

The distance between the centres of two
circles having radii 9 cm and 4 ¢m is 13 cm.
What is the length of the direct common

tangent of these circles ?

{(a) 12em

(b) 1lcm
(c) 10 cm

d 95cm

67.

68.

69.

(20-A)

If PL, QM and RN are the altitudes of triangle
PQR whose orthocentre is O, then Q is the
orthocentre of the triangle

(a) OPQ
(b) OQR
()  PLR
(d) OPR

In triangle ABC, £2C = 90° and CD is the
perpendicular from C to AB.

If (CD)2 = (BC)2 + (CA)~2, then which one of

the following is correct 7
(a BC.CD=AB.CA
() AB.BC=CD.CA
(¢) CA?+CB2=2(AD?+CD?

(d AB.CD=BC.CA

If a point O in the interior of a rectangle
ABCD is joined with each of the vertices A B,
C and D, then OB? + OD2 will be equal to

(a) 20C2+0A2
(b) 0C2-0A2
(¢) 0C2+0A2

(d 0C?+20A2
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64. T HHY @@ ABCD ¥ fawol P W witeae

66.

STS-M-TPT

@ & oft Bryw APB 1 &%t 249 em # 1|

If& AB = 8 em 3K CD = 5 em 2, T BYS CPD
FT S TR 7

() 2471 em

(b) 15T em

{c) 12'5-71"'f cm

(d 9875 em

% gHeTg S ABC #, BD, AC W ¥
o weft & | BD? fopees TR R 7

(a) AD?

(b) 2AD?

() 38AD?

(d) 4AD?

chaﬁumﬁﬁwaﬁmﬁi’rqﬁ%%ﬁi
FAT ARG 183em 2 | W g A B

eIy T 6 T F R 7
(a) 12cm
(b) 1lem
(¢) 10cm

(d) 95cm

(21-A)

68.

69.

¢7. uf} PL, QM 3T RN, 39 B PQR % vihder

% e o9 ¥ 0 ], 91 , Fru frge w1 o
FEE?

(a) OPQ

(b) OQR

(¢} PLR

(d) OPR

[ ABC#, £ ¢ =90° 3 CD, C® AB W
e 21 AR cDy? = @Oyt + ca?y, @
frferfaa & @ Sa wdi ] 2

(a) BC.CD=AB.CA

{b) AB.BC=CD.CA

(¢) CAZ2+CB2=2(AD?+CD?%

(d) AB.CD=BC.CA

afe @k oA ABCD % feeft sfa: fag o #
¥ fergatt A, B, C 3R D & Siigt wmar &, @
OB? + OD? ferwss =TT B 2

(a) 20C2+04a2

th) 0C2-0A%
(c) 062 4+ OA?

(d) OC2Z+2042
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70. A cylinder of height 2x is circumscribed by a|73.
sphere of radius 2x such that the circular ends
of the cylinder are two small circles on the
sphere. What is the ratio of the curved surface
area of the cylinder to the surface area of the
sphere ?
(a) 3:4
(b) 3:3
© 3:2 74.
(d J3:1
71. A cylindrical vessel 60 cm in diameter is
partially filled with water. A sphere 30 cm in
diameter is gently dropped into the vessel and
is completely immersed. To what further
height will the water in the cylinder rise ?
(a) 20cm
(b) 15cm
5.
(¢) 10cm
(d 5cm
72. The vertical angle of a right circular cone is %
and the slant height is v2 r ¢cm. What is the
volume of the cone in cubic cm ?
(a) m®
(b) 9nrd
3
nr
(e) ‘—'3—
(d 3m?
STS-M-TPT (22-A)

The radii of the frustum of a right circular
cone are in the ratio 2 : 1. What is the ratio of
the volume of the frustum of the cone to that
of the whole cone ?

(a) 1:8
() 1:4
() 3:4
d 7:8

From a solid cylinder whose height is 8 cm
and of base radius 6 cm, a conical cavity of
height 8 cm and of base radius 6 cm is formed
by hollowing out. What is the inner surface
area of the cavity ?

(a) 6msquare em
(b) 8msquare cm
(¢) 10msquare cm

(d) 60nsqguare cm

A tent has been constructed which is in the
form of a right circular cylinder surmounted
by a right circular cone whose axis coincides
with the axis of the cylinder. If the radius of
the base of the cylinder is 50 m, the height of
the cylinder is 10 m and the total height of the
tent is 15 m, then what is the capacity of the

tent in cubic metres ?

(a) 37500n
87500n
b
(b) 3
© 26500n
3
(d) 25000%

https://www.pygonline.com




70,

71.

2.

STS-M-TPT

ox $E18 T TH AT, 2xﬁma1ﬁwfﬁ@r

¥ 3@ wR Uit ? B e & il ek, e

T3 Y JAE | oH b T TR ATHA
T % YR SA%a ¥ ST R R 2

J§:4
J3:3

{a)
(b)
) +3:2

@ +3:1

60 cm SIH T Th SRR T ATE &9
YO & W g R | 30 e T AR TH A
1 ot & wd7 3 frran s @ R 9 o aw @
T@ ST & | SR w99 # ot Rea FW 3s
S ?

fa) 20em

(b 15em

(e) 10ecm

(d 5Hem

fidt 9§ J2rem B | U H AEE T cm
7 o 2 7

(a) mr®

3

(b) 9xrr

3
] nr
{(c) 5

3

(d) 3nr

73.

4.

75.

Eéﬁﬂ?ﬁas@m?ﬁdmgéaﬂisﬂfﬁ

{234}

S dEgdE U % fows (weew) ft Hremd
2:1% 3UEd H § | 9F & foas & smm
H1, [ F F TG & I I e & 2

(a) 1:8
® 1:4
() 3:4
d) 7:8

6 cm YR B 3fX 8 cm =18 I W 3W
oo ¥, 6 cm AR BT it 8 em 9T W
o 3 wF Fee fomm s 2 1 3@ weR
fra 2 2

(a) 6n fem
(b) 8nicm
(¢ 10m 3 em
(d  60n = em

e oq w1 fmin fmm mn @ 9 eegelly Sem
¥ TR @S TO-FHT UF & BN H g, a0
Vi S e, Ao h AN F w7 | e S
F AR 1 B 50 m, 999 6 FEE 10 m
M g H T FAK 15 m B, A T H A
(eTraga) = Hiex § foradt & 2
(a) 37500n

87500n
3

(b)

26500x

{¢) 3

{d) 25000m
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76. Two rectangular sheets of sizes 21 x 4n and |79.
7 X 5r are available. A hollow right circular
cylinder can be formed by joining a pair of
parallel sides of any sheet. What is the
maximum possible volume of the circular
cylinder that can be formed this way ?

(a) 4n°
(b) 8na?
() 12572
d) 625n°

77. In a triangle ABC, the medians AD and BE
intersect at G. A line DF is drawn parallel to
BE such that F is on AC. If AC = 9 ¢m, then
what is CF equal to ? 80.
(a) 225cm
(b) 3ecm
(cy 45cm
(d) 6cm

78. In a triangle PQR, X is a point on PR and Y is 81
a point on QR such that PR =10cm,

RX =4 cm, YR = 2 ¢cm, QR = 5 cm. Which one
of the following is correct ?
(a) XY is parallel to PQ
(b) PQ=2XY
{c) PX=QY
(d) PQ=3XY
STS-M-TPT (24-A)

Corisider the following statements in respect

of three straight lines A, B and C on a plane:

1. If A and C are parallel and B and C are
parallel; then A and B are parallel.

2. If A is perpendicular to C and B is
perpendicular to C; then A and B are
parallel.

3. If the acute angle between A and C is
equal to the acute angle between B and
C; then A and B are parallel.

Which of the above statements are correct ?
(a) 1,2and3

(b).
(c) 1and 3 only
(d)

1 and 2 only

2 and 3 only

The diagonals of a rhombus are of length
20 cm and 48 cm. What is the length of a side
of the rhombus ?

(a) 13 cm
(b) 26 cm
(c) 36cm
(d) 39em

An arc of a circle subtends an angle n at the
centre. If the length of the arc is 22 em, then

what is the radius of the circle ?

{Take 1t = 2—?%)

{a) bHcm
(b) 7em
() 9em
(d Ilecm
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76.

1.

9r x 4n 3T 1 x S SER F Q SHTHR GTR
Iuetey § | et Wt o )\ yemett % w
T2 N e U digen de-gdiE daem sqrn
W1 Eal } | F6 TR S 91 Wk A e
Ao F1 Aftrwan HYE AT F9T R 2

(a) 4n?

(b) 8n2

() 1:25n2

(d) 6-25nZ

wF By ABC #, wifémsd AD 3R BE, G W
yfteeg et § | BE % @WiR TF @ DF 59
TR G T R g R T AW R 1 3R
AC=9cm?, @ CFiFad s 8 7

fa) 2-25 em

(b) 3Jem

(¢) . 45¢cm

(d}y 6cm

78, % fiyw PQR #, PR W & fig x ol QR

STS-M-TPT

R wh fag Y38 TR & 7% PR = 10 em,
RX = 4cm, YR=2cm QR =5 cm & |
frfafas 4 @ ewm adt 2 2

(a) XY,PQF GHIW B

(b) PQ=2XY

(¢ PX=QY

(d) PQ=3XY

79. W‘Wﬂammwi‘@aﬁA,Bﬁnc%

81.

(25-A)

wed #, Frafafga wut w famm e

1. afe A 3t ¢ auiat  aw B 3 C 9NRR
EMAM BT E L

9. AXACHETE MM B, CHAT LA A

3t B o ¥ |

3. AR A M CF i H =, B3R C
oI < ARV % FO ;@ A B
TR E |

I § | SR8 sy At 7

(@) 1,23 3

(b) Had 13K 2

(c) Fad 1311 3

(d) = 233

w guegds & fawul 6 o=E 20 om 3R
48 cm B | THEEHS it o H dErE T
27

(a)
(b}
(¢) 36em
(d) 3%em

13 em
26 em

TS g9 FI A9 Fvg W W ¢ HaRG it ]
ﬂﬁﬁmﬁﬁaﬁZZcm%,ﬁﬁﬁﬁﬁww

%?(n=2§ )

(a) BHecm
(b) Tem
() 9Yem
(d 1lem
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82. One-ifth of the area of a triangle ABC is cut | 85.
off by a line DE drawn parallel to BC such
that D is on AB and E is on AC. If
BC = 10 cm, then what is DE equal to ?

{a) 'u"g cIn

b} 25em
) 3J65cm
(d) 4v5cm

83. There are 8 lines in a plane, no two of which
are parallel. What is the maximum number of
points at which they can intersect ?

(a) 15
b 21
(c) 28
(d) None of the above

84. A closed polygon has six sides and one of its
angles is 30° greater than each of the other
five equal angles. What is the value of one of
the equal angles ?

4 & B6.
(a) 55°
(b) 115°
(c) 150°
(d) 175°
STS-M-TPT (26-A)

Consider the following statements : -

1. The intersection of the
perpendicular bisectors of the sides of a
triangle may lie outside the triangle.

point of

2. The point of intersection of the
perpendiculars drawn from the vertices
to the opposite sides of a triangle may lie

on two sides.

Which of the above statements is/are correct ?
(a)
(b} 2 only

(¢) DBoth1land?2
(d) Neither 1 nor 2

1 only

For the next five (05) items that follow :

In a University there are 1200 students
studying four different subjects, Mathematics,
Statistics, Physics and Chemistry. 20% of the
total number of students are studying
Mathematics, one-fourth of the total numher
of students are studying Physics, 320 students
are studying Statistics and remaining
students are studying Chemistry. Three-fifth
of the total number of students studying
Chemistry are girls. 150 boys are studying
Mathematics. 60% of students studying
Physics are boys. 250 girls are studying
Statistics. https://www.pygonline.com

What is the total number of boys studying
Statistics and Physics ?

(a) 180
(b) 240
(c) 250
(dy 310
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82, TH BT ABC % 8o%w = wiweEl fFem, w

83.
# i 9 § | Torgatl 1 9 wrftemam e
T 3 T W A wioog = awdt § 2
(a) 15
(b) 21
(c) 28
@ I9E® | F Fg T

84, TH W wguw H ©: o € IR IWHE @
HIV, FA U A FOT T 30° ST & | FOH
iy # @ foreft wep o 1 A w0 R 2 86.
(a) 55°
b 115°
(e} 150°
@ 175°

STS-M-TPT (27-A)

@ DE gRI S1e T4 8, 9@l DE, BC % W9
70 veR @ 78 2 % D, ABW 3R E, ACW

2 13 BC=10cm ®, a1 DE fras susw 2 2
(a 5em
(b}  245cm
(¢¢ 3V6em

(d 445cm

wE Thad 7 8 @ B, fomd @ =g off @ emaw

85.

ﬁﬂﬁ’iﬁﬂﬁﬂ?ﬁﬂﬁﬁﬂﬁﬁ'{:

1. T Bgm < gstl & &9 fonesl &
whreag fog e % STt & T B |

2. Feeft oy o, o vl @ @ sonedt
W die T e w1 aRkees g 3w
T < 3 yonatl w8 wwar €

I T | RH-AVE U wE B2

(a) had 1

(b) Fad 2

() 13K 2 i

) T@L,IE2

ST 17 JTE GIer (05) F¥a19rF & forg

o fovafaemem #1200 faenefi &, <t =x i
o} — niftre, wiferh, siifee faam of W
e = srem W w3 | el & g
AT H1 20% TG W AEEH W@ B,
Fenfifat it Fa d=m = TwEad W
fomm =1 emm = @}, 320 feendt wiferh
I A 9 ® 8 3N o9 fenef @ fsm
F ASRHE W R | WA e e e
F Fret et o o Tem F1 A9 e qi
T Feihal 8 | 150 wigs nitm &1 e o
® & | Wfow fm ®1 seAm wE 9@
et =1 60% oty egd € 1 250 ol

wifeTh! &1 31T =L @ § |

wifeghl 3 sfifos fasm 1 srerm +@ T
g ol Fo T TR 2

(a) 180

(b) 240

{¢) 250

(d) 310
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87. The number of girls studying Statistics is|gj,
what percent (approximate) of the total
number of students studying Chemistry ?

(a) 588
by 735
(0 1787
(d) 806

88. In which subjects is the difference between the

number of boys and girls equal ?

(a) Mathematics and Chemistry

(b) Statistics and Chemistry 92,
(¢) Mathematics and Physics

(d) Mathematics and Statistics

89. What is the difference between the number of
boys studying Mathematics and the number of
girls studying Physics ?

(a) 20
(b) 30
(e) - 60
(d) 80
93.
90. What is the ratio of the total number of boys to
the total number of girls ?
(a) 67:83
(b) 17:26
() 27:19
(d) 189:179
STS-M-TPT (28-A)

Frequency density of a class is computed by
the ratio

(a) Class frequency to the class width

(b} Class frequency to total frequency

(¢) Class frequency to total number of
classes
(d) Cumulative frequency up to that class to

total frequency

A small company pays each of its 5 category
‘C’ workers ¥ 20,000, each of its 3 category ‘B’
workers ¥ 25,000 and a category ‘A’ worker
T 65,000. The number of workers earning less

than the mean salary is

(a) 8
) 5
(c) 4
(d) 3

A man travelled 12 km at a speed of 4 km/hr
and further 10 km at a speed of 5 km/hr. What

was his average speed ?

(a) 44km/hr

(b) 4-5km/hr
(¢) 50km/r

(d) 2-5km/hr

https://www.pygonline.com




B7.

88,

89,

wifeah) =1 svem 4 Tl wefat i de,
* g w1 aan feas wfewa & 2

(a)
(b)
(e) 1787
(d) 806

58-8
735

o fowari & el ofit wreferl <t wem % =
1 I T 8 ?

() T 3R WA e
(b) wifSwd i WA faam
(© it IR shfees T
(d) T @R e

i W I T A @EH T 3R
Wifeers faam =1 Jemm w0 I aefeal 6
T & w1 1 a0 941 8 7

(a)y 20

(b 30

(c) 60

(d) 80

90. TSH F T TN H WghHAl H P dEw A

STS-M-TPT

AT TR ?
(a} 67:83

(b)
(e} 27:19
(d)

17:26

189: 179

91.

92.

93.

(20-A)

fetht =i =1 siare = fFe sgmm @
gfenfora o wman & 2

(a) o EaTCAT 1 @ B R ¥ IEuE
(b) 7 GHERAT HT Tehe! TRARAT § 3T
(0 = SRERaT F1 F H FA TN IO

() 3Iq T T ) g IRETA W O
ARERAT & 34

TF B FA R ¢ T F IS 5 HAImE!
@ T 20,000, B A ¥ ySe 3w @
25000, N A T & TEH FHEG FH
T 65,000 T PIAH HE g | ALY S99 § 9
FAM I AR & S fraf R 2

(a) 8

b 5

(c) 4

d 3

T EHT 4 kmy/EeT Y =17 & 12 km 1 IET
HE & AR R 5 km/sier & I & 10 km
AHT FAT & | SHRY T =1 &= oft 2

(a) 44 km/S2T

(b) 45 km/¥IeT
() 50km/Ee

(d 25 km/=2
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94, The pie diagrams on the monthly expenditure |97,
of two families A and B are drawn with radii

of two circles taken in the ratio 16:9 to

compare their expenditures.

Which one of the following is the appropriate

data used for the above mentioned pie

diagrams ?

(a) ¥ 16,000 and ¥ 9,000

(b) ¥ 8,000 and T 4,500

(c) ¥ 25,600 and T 8,100 98.

(d}) ¥ 4,000 and ¥ 3,000

95. Consider the following statements :

Statement I : The value of a random
variable having the highest
frequency is mode.

Statement II - Mode is unique.

Which one of the following is correct in respect

of the above statements ?

(a) Both Statement I and Statement II are |99
true and Statement II is the correct
explanation of Statement I

(b) Both Statement I and Statement II are
true but Statement II is not the correct
explanation of Statement I

(¢) Statement I is true but Statement II is
false

(d) Statement I is false but Statement II is
true 100.

96. Which one of the following is not correct ?

The proportion of various items in a pie

diagram is proportional to the

(a) Areas of slices

(b} Angles of slices

(c}) Lengths of the curved arcs of the slices

(d) Perimeters of the slices

STS-M-TPT (30-A)

The geometric mean of x and y is 6 and the
geometric mean of x, y and z is also 6. Then

the value of z is. 3
(a) 12

b 6

() 6

@ ¥

The total number of live births in a specific
locality during different months of a specific
year was obtained from the office of the Birth
Registrar. This set of data may be called

(a) Primary data -
(b) Secondary data
(¢) Recorded data

(d) Countable data

The heights (in em) of 5 students are 150, 165,
161, 144 and 155. What are the values of
mean and median (in ¢cm) respectively ?

(a} 165 and 161
{b) 155 and 155
(¢} 180 and 155
(d) 155 and 161

The average height of 22 students of a class is
140 cm and the average height of 28 students
of another class is 152 cm. What is the
average height of students of both the
classes ?

(a) 144:32 cm
(b) 14552 cm
() 146-72 cm
(d) 14792 cm
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94,

95.

96.

STS-M-TPT

(d)

al wftaw, A 3R B & wifts @ % gqung @i
™ 3R I TE H gee F % o A g
= BT 1 I 16 : 9 T T |

9t aftfa garal % fom sy fee o wd
Atwe, el d a w8 € 2

(a) ¥ 16,000 3 ¥ 9,000

(b)

(¢)

F 8,000 3T ¥ 4,500
F 25,600 I 8,100
Z 4,000 3R T 3,000

Frfafes Feml w fram Hiftg .

FYTI : AlUwaH TREARAT I AGFedH = H
WM wge (We) wEe |

o7 11 . sgo (W1e) afgd (7=) gar |

:ﬁgm%mﬁmﬁﬁﬁ%ﬁqm

(@) w1 ¥R W I 94 w ¥ ok
YA I, O 1 1 e T §

by HU I 3R F[ II g1 aft &, Ty
FU II, HeF | 1 GE1 ST 787 3

(c) o IHE 8, ooy FuA 11T &
(@ FUF ITE B, 9 HUT I EE ]

- | 100.

Feafafeadasmaad 787 ¢ 2

w gorg A faftm W& W sgmm fRes
AT BT B ?

(a) 9 % Sawa] F

(b) Wl % SO F

(c) T & ok INT 6 T %

(d) i < gfEt %

97.

- (a)

98.

099.

(31-A)

x 3 y 1 OIRR WEw 6 & AW x, y A 2w
TR H1ed ft 6% | 99 2 1 HIF w1 g 2

12
b V6
¢} 6
@ 6

T TS F wEfed 8, T At af F
it adat F <om w faftee wm # Sifag
F=t (yEat) 1 P gemn g B TR | 39
(aifengl) o 30 T T T FHE A HHAT S 2
(@) WifRs (9ET) 3urd

(by TYOr 3uTE

(c) affeafea sa=

(dy Tor I

5 fermfidl 6t F=mgat (em H) 150, 165, 161,

144 3 155 ¥ | T wey o mifeE
(Fifszm) F oM (em H) www: w0 ¥ 2

(a) 165 3N 161
(b)
(c)
(d)

155 3fiT 155
160 37T 155
155 3 161

T Helr & 22 R & ofgg S5 140 em
2 3N wF o wEn ¥ o8 i & sfww
F9TE 152 om 8 | SFT wenslt & R H
¥raa S | o

(a)
(b
(e}
C))

14432 em
145-52 em
14672 cm
147-92 em
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T T ATIHT T§ TOHT Gleaent Tierd &1 T HET TIC 77 A% T &t

#. =i, &, ; STS-M-TPT wdraror gesT ST

wfien Wy Y F g 11, S 39 Titeror gt 6t ugare dava w1 o fh g @ Rer e,
mmwgmwmm,aﬁqifIﬂﬁﬁm%,ﬁsﬁaﬂmgﬁmﬁm?ﬁﬁql
FUAT oW W % OMR IWLTE ¥, sﬁﬁmm,ﬂﬁwaﬁwﬂwgﬁw

WE) A,B,CAT D W, AW E & ﬁm%&ﬁgmﬁmﬁ%uﬁaﬁ! ﬁnﬁaﬂ

wﬁnﬁélwﬁmaﬁriﬁﬁ/m et & smaas e = Grrqtrrl
34 qien yfeem Wy § U T Sises # e A
g foren & | Tlem gierem W gl o T e
mqﬁWgﬁwﬁlwm(m)ﬁqwﬁlmmﬁaﬁaﬁmaﬁﬂw%|m-€t7=5
weTiw # 9 Yo (IR) Ru e € ) T & v o F g &, BR o9 Iwows WAl e
aﬁ%mﬁmﬁ ot s v ¥ AT T ad §, @ 39 T # 2ifa S v wEta
N | YAF T F o dam e st Tgw g g |

A 79 At Tega orem & Ry Ty Iwuss W g7 oife w0 € | I # Ry e Rdw afew
Tt wee % 3% TE E |

saﬁqsaﬁﬁmwﬂm ¥ fafter yeris % Yoo ST W sifha e gE K, U wa
TG & 9y Afva ¥F IR 76 e SmEFH A H § |

A9 3 oft F TALEF ¥ HA F ORE 99 T F G W FEFET IA-GT7F s Hi

wg 3 | gt I are g g @ 9 S sEaia g

F= M % T e Wiegor g & ofF § d@e E

TAq 3T & U v .
weA-wEt # Irfigan gr fag e e 3wt & forg gus R s |

G) W WY ¥ R =R dwfers I § | 3nfitar gR yeis a9 ¥ fare Ry e o em s % foe v
¥ P fre e ot 7 wen-fogrd qve % w0 e S |

Gi) af $X¥ sofiear ¥ it I 2 ], @ T e I 9 S, Tt Ry e sl # § o W
od B B, 5 oft 39 W F fore swdwem # 36 T W qus R smom |

(i) af} Iofieam g0 B v T A R o R, sl Sedicar gro Ia T fem e @, | Sw e %
fore =g que =i fomm s |

Wa 7% STTHT TF GO GRAST W H} T FgT TG AT 7% T WT

Note : English version of the instructions is printed on the front cover of this Booklet.
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